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Question Number : 77 Question Id : 5500531037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The area (in sq. units) bounded by x =4, y=—4and y=x1s

x=4, y=—480in y=X S503 DBERD FTR0 (5. chrdee’)
Options:

% 48

Ly
I3

L x 24

4 % 16

Question Number : 78 Question Id : 5500531038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The particular solution of the differential equation (1+ y’ )clx -xy dy=0, y(1)=0

l'epl‘ESEIITS
o500 86630 1+ )dx—xy dy =0, y(1)=0 dog) HBE TG ardod

250



Options :
a circle

208 a0

a part of parabola

Do 57D wE 2o

a part of ellipse

EBDyB:0 &' g erdo

a part of hyperbola

IDDT Do 57D 2w 2o

Question Number : 79 Question Id : 5500531039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ¢ and d are arbitrary constants, then y =e™ [c coshy/2 x + dsinhy2 x] is the

general solution of the differential equation

¢ o8k d &0 oirENS 08 TR WS, WY
y=¢” ( ccoshv/2 x + dsinhy/2 x) SRR Ja DR ES BRI LR
Options:

. V' +4y' +2y=0



y — 242y +2y=0

Question Number : 80 Question Id : 5500531040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following 1s a homogeneous differential equation?

& 308 980D HDLBETFOS’ DANFHAD BHLVD DAEGE0 DB?

Options:
dy :
= =x’ +(sinx)y
1. % dx
X
dy =
L =(x’+y)e? +x\/§
) x X
(x* +y*)dx =2xydy
3.¢
dy %
X—=Yy+e
dx
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Question Number : 81 Question Id : 5500531041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of significant figures in 4.870 m 1s
4.870 m &' FYS Dowd{e

Options:

—
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Question Number : 82 Question Id : 5500531042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, velocity (v) — time (t) graph representing the motion of a
vertically projected body is

$08 88, o (V) - 50 (1) D 0" by YT DD DI HVY
riaﬁ:mi)lmzﬁomaﬁ&

Options :

thrs

D%f
2.

IS
L

—

L&

\/(

o




Question Number : 83 Question Id : 5500531043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The resultant of two vectors A and B is petpendicular to vector A and the resultant

magnitude is equal to half of the magnitude of B. then the angle between A and B
is

Goch 6% A 28050 B © D840 A HB3D vorom $obir, DS H6%

2870, 268 B 2647m06" o 08, A 20800 B & s S0
Options :

30°
60°
150°

120°

Question Number : 84 Question Id : 5500531044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At any instant ‘" the vertical distance “Y" and horizontal distance ‘X’ of a projectile
are given by 2Y = 6t gt and X = 4t. The initial velocity of projectile is

(X and Y are in metre and t is in second)

QB 220000 ‘1" B HEDL0 VYT Yosredocdd Krdo T Bty &S
RirodGore DOLrEodd Grdo X ody 2Y =6t-gt’ &dokn X =4t @) &
DEDg0 89 o

(X 508050 Y otb & Bk t 28 &)

Options :

_— 3 ms™!

= |
5 4 ms

Sms

6 ms

Question Number : 85 Question Id : 5500531045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A lorry 1s moving on a smooth circular path of radius 50 m with a velocity of 20 ms™.
Then the banking angle of the road is

(Acceleration due to gravity = 10 ms"‘z}
50 m aﬂ?@ﬂgo o) AR w8 JT"sE Ao Dot WS erd 20 ms” Aidwd

SO &od. wowd & Srdo g, erjoSoh S0
(thdod] b0 =10 ms™)

Options :

tan™"

-h-|"J|

Question Number : 86 Question Id : 5500531046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: o - 1
A body of mass 1 kg is moving with a velocity 10 ms~ due to a constant force on a
horizontal rough surface having coefficient of kinetic friction 0.4, If the constant
force 1s removed. the body comes to rest in a time

(Acceleration due to gravity = 10 ms?)
28 i@nd 200 0 0.4 1{3@5 e e (o 16 dwoa 1 kg Qaﬁsm% fio
520 10ms™ Sridwd $dar od. %d DY) BRIV, & S0 L VS

T IS faeg SPOA

(thdod &ideao =10 ms™)
Options :

25,
1.&,_.55

Question Number : 87 Question Id : 5500531047 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A ball of mass 10 g is allowed to fall down from 10 m height. After collision with
the ground if 50% of its energy 15 lost. then the height reached by the ball is

G503 10 g o 2% 008 10 I odk $0B3 DAk BT, 2irid & & 88y

ST o 33 6 50% 330 2608, b 96 pS BS6r1DF I



Options :

1 % 4m

6 1m

5m
3

7m

Question Number : 88 Question Id : 5500531048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A Domb at rest explodes into three pieces of equal masses. If two pieces move
perpendicular to each other, each with a speed v then the speed of the third piece is

I3 RAE” ) w8 erond AT GO o Kre 08 e DT\
30806, Toth Swg) e wSmrAE e von H30E, 2848 v 23S 38 Jurd

S0g), g, S
Options:

vV

VA2

2. %




Question Number : 89 Question Id : 5500531049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A body rotating with uniform acceleration about ifs geometrical axis makes
§ rotations 1n the first 2 seconds. The number of rotations the body makes in the
next 3 seconds is

(Initially the body 1s at rest)
2r(DoB0% @50 DO Ay S(6eaod Fadoemo DRV w8 V) B

2 28008 § doren Sr. ST 3 28008 530:9) B Fdorre Doa
(ool S0 Jto 23’ goch)

Options :

h
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-
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Question Number : 90 Question Id : 5500531050 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

A solid sphere is pushed on a horizontal surface such that it slides with a speed
35ms” initially without rolling. The sphere will start rolling without slipping when
its velocity becomes

P20’ Bdor a3 DRorT w8 & ﬁs@.ﬂb;l 35ms”T DAF g 02 DIFodd

o AP, Ao arddor Shi Awden Dok fivo o

Options :

_l
.
| ¢ 2.5ms

5 ms

o =
3 % 2.0 1S

4 % 7 ms

Question Number : 91 Question Id : 5500531051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mechanical energy of a damped oscillator becomes half of its initial energy in 4
seconds. In another t seconds its mechanical energy becomes 12.5% of its initial
mechanical energy. Thent=

w3 oShe Godo Gtus) alrods 33 8 airods #36° wrio eckjockos DY
00 4 25060, DB 1 %06’ o alrods 33 §9 airods $38 12.5% erbiv,

eI00A) [ =

Options:



12 8

4% 16 s

Question Number : 92 Question Id : 5500531052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When an external force with angular frequency o, acts on a system of natural angular-

frequency o, the system oscillates with angular frequency o,. The condition for the

amplitude of oscillations to be maximum is
gedoh PRI 0,00 28 LR P gedoh PRI O o W BB

2 HAIPASRNED, &8 350 0, Srak FdepRed SodTen Say. S0

DB (18230 bt TPHOND DE.

Options :
®M,=2m

1.2 ¢
D, = @
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Question Number : 93 Question Id : 5500531053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A uniform solid sphere of mass M and radius “a’ is surrounded by a concentric
uniform thin spherical shell of mass 0.5M and radius 1.5a. The gravitational potential
energy of a unit mass kept at a distance of 2.5a from the center is

M @3§0°3, ‘4" Frfrdan o w8 208 Aivo ot 1.5a g fo w8 fieseg
25" fio D¢ Sogior ek, & 6’ Ao dwg), G5 0.5M eand Sogdw

dooc 2.5a trdosS” Gotsendtad Dare GO(0m3 0R0E) DA B8

Options:
—3GM
e 08
3GM
, & Da
2GM
- Sa
—2GM
Sa



Question Number : 94 Question Id : 5500531054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A cylindrical rod made of aluminum has length 1 meter and diameter of 10 cm. The
rod 1s subjected to a tensile force of 100 kN. The elongation in the rod i

(Young's modulus of aluminum = 70 GPa )
10 cm rdw, 1m T o Ararsd vurbdabo sé 2 100 KN 358 eowo

2aIrfiodB. w0 & 42 Td' Sy dDirdde

(werrldobo aivg) alboh theasdw =70 GPa)

Options :

0.81x10%m

2x10™*m
0.2x107*m

1.81x107* m

Question Number : 95 Question Id : 5500531055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A large open top water tank is completely filled with water. A small hole of diameter
4 mm 1s made 10 m below the water level. The flow rate of water through the hole is

(Acceleration due to gravity = 10 ms'zj
D Surd 62, Docore A o) 8 ¢ Ay EP{os € B LoDy 10 m Brddwd
410 J§R30 0 28 ) Gogn 38, & Gogidud ot QB DT et

(8o SBes0 =10 1115'2)

Options :

14.14x10° m’s™

1. %

2.1x10° m’s™
2, %

1.77x107% m’s™
3, %

0.177x10° m?s™
v

Question Number : 96 Question Id : 5500531056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The phenomena of lowering freezing point of water by the application of pressure is
known as

D030 S0 BoL0 HOH D& e, 0BHD e8%0 Sfoserdy

00608,
Options :

1. %



Sublimation

er?::}aﬁbém

Regelation

NOGD FBHHAD
2. ¥ %

Precipitation

323D B8

Crystallization

abe:ﬁ%ssmm
4. ®

Question Number : 97 Question Id : 5500531057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A steel ball of mass 200 g falls freely from a height of 20 m and bounces to a height

of 10.8 m from the ground. If the energy lost in this process s absorbed by the ball.
the rise in its temperature is

(z= 10 ms™, specific heat capacity of steel is 460 Jkg 'K
200 g © 060 o w8 659, w08 20 b AoRv0E BT 0 p Hd Wber
10.8 20tag A0S Schisood. & HIE’ §'\ad 333 wod dreddtond, T

&8 dbrvce
(E—’ =10 H]S'z, ee‘%mgzj 460 ]kg-lK-IJ

Options :



. 01°C

, x 1°C

3 @ 0.2 °C

Question Number : 98 Question Id : 5500531058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A work of 166.28 J is done to adiabatically compress one mole of a gas. If the
increase in the temperature of the gas is 8 °C, the gas is

(R=8314Jmol K)
208 DS TRV ?g%é 2308 D Do Saberd3 166.28 73
S5V S0, TAY TS eg‘*g@e‘s" iy 8°C wowd, & o)
(R=8314Tmol K7
Options :

monatomic

D¢ HEATELE TPaivD)

1. &

diatomic

BLDEATEVS T°C30D
2.9



polyatomic

LIETPODGATCES ST°036Y)
3. %

mixture of diatomic and polyatomic

&5 06030 222770 DEEATPEWLS TPOIVNHL B0
4. %

Question Number : 99 Question Id : 5500531059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a Camot’s engine, as the gas absorbs heat energy from the source, then the
temperature of the source

28 5°8) abodod, raoi) earsabo duod e3383 o, earsabo Gwg)
egﬁm
Options:

decreases

SOB00H

increases

Faloblgblublelal

remains constant

Do Sotnod
3. v @



becomes zero

A 5008
4w maﬁiws@; 0

Question Number : 100 Question Id : 5500531060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the rms speeds of helium and oxygen are equal, then the ratio of the temperatures
of helium and oxygen is

T Yk 2Bk e5dyud g s Seoen ArdB. rHoko LBak
dyad v el tido s
Options :
| L8
21

1:4

4 % 4:1

Question Number : 101 Question Id : 5500531061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of radii of two wires is 1:2 and the density of their materials are in the
ratio 1:4. If same tension s applied to both the wires then the ratio of the speed of
transverse waves produced in them 1s

Goct Sl TFTe A 112 080k 78 drTre Fogdw g 114, @
Both) B a3 écﬁigérﬁ: 2908008, TOS'D e‘iéd?gé Sdorre dco Dt’qb{.’j
Options :

. 116

, % 1611

- 1:4

4V 4:1

Question Number : 102 Question Id : 5500531062 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The frequency of a light ray is 6x10" Hz. Its frequency when it propagates in a
medium of refractive index 1.5, will be

w8 5708 860 Faapdfo 6x10" Hz. 382889 tbrso 1.5 o asrdso hom e
508 $6130 DBV T g ﬂ“ég@é5o

Options :

. 1.67x 10" Hz



9.10 x 10" Hz

14
v 6% 10" Hz

4w 4% 107 Hz

Question Number : 103 Question Id : 5500531063 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two coherent light sources having intensity in the ratio 2x produce an interference

pattern. Then the value of % will be

max oin

5083 eﬁ‘s@eja i’)ﬁ.’qﬁ 2X (i) Gotd "eaoeacg 5°08) 2SR m¢5 5’35856930 200D,

max i

POV — T Dexsd
I 4]

max | omin

Options :

242X

x+1

X

2x+1

-2
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Question Number : 104 Question Id : 5500531064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two charges Q and 4Q are separated by a distance of 6 cm. The distance of the
point from 4Q at which net electric field is zero is

Goth DeErdTey Q ok 4Q ev 6 om Broodd” St Satbead &) ow.
Az 4Q dwod HBS xS o Brdgor Dotk dordo
Options :

1 % 2cm
6 cm

8 ¢cm

4 4 cm

Question Number : 105 Question Id : 5500531065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Inside a charged hollow sphere, at any point the electric field (E) and potential (V)
are

w8 8538 ' fivo &0 ) Dot HET DS ES 694 (E) ot

Rl ﬁ“@@cmes (V) en
Options :
V=0and E=0
V=080 E=0
Vis constantand E=0
V f‘&:ém 630 E=0
2. '
V =0 and E 1s constant
V =0 H08c3» E »8A0
3, % -
V is constant and E 1s constant
V .?gdm Su6adw E ?gdm
4, % ' '

Question Number : 106 Question Id : 5500531066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equivalent capacitance between A and B in the given figure is

0D &0 A, B 0 dud dovy SIrnedy

Question Number : 107 Question Id : 5500531067 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two metal wires of same length, same area of cross-section have conductivities of
their material o, and o, . If they are connected in series, the effective conductivity is

W8 TED), 3 SG[B\¢ ST o Both BifL VPG TIPS 6, 2B, .
& Ao 336" $Dd HdY rirdss
Options:

G,0,

GI+D-E

26,0,
&) +6,

G,0,

30—,

26,0,

c, — 0,

Question Number : 108 Question Id : 5500531068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the circuit, the cells are having negligible resistances. If the galvanometer shows
null defection then the value of V" 1s

B0y Hahod' wrw g, wodd) Baren ) bocs BADD.
mvsbwmoé’ﬁ 5480 Bridjo wowd, V" dens

M0 G

v | 20000
L

Options :

AV

3. %

4 2V

Question Number : 109 Question Id : 5500531069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If “q’ is electric charge, B is magnetic field, ‘R” is the dee radius and ‘m’ 1s the
mass of ions, the kinetic energy of the ions in cyclotron is given by

esxerdto ‘q WK 08 Edo B, é T{rgo ‘R’ Sobako wakrg g o3 W’

wond pSErd & walrd dons



Options :

gBR
| % 2m
qBR
5 % M
qEBZRE
3 x 4mm
qZBERz
4 2m

Question Number : 110 Question Id : 5500531070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Curl the palm of your right hand around the circular wire with the fingers pointing m
the direction of current and the thumb gives the direction of the magnetic field. In
this case the upper side of the loop may be thought of as

HTS6 & e J D& 3O e6Bon(d, S pTer 43¢ eby eol o
< ot $HE 3O Fbdden LaHF) 0 EY B3 @08, & Dotidyod

LT aws), erio Qer wboéém').
Options :

direction of current

- DANS DT TE?



direction of electric field

QRS ESHD
2. %

south pole

GEE3 Bydo
3 %

north pole

&S0 GQyedo
4.9 =

Question Number : 111 Question Id : 5500531071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The Curie temperature Tc represents

SSiNe agge:a T 2rDo0dE
Options :

temperature of transition from paramagnetic to ferromagnetic

J°0° 903 090 &oct HE oI, 0TS PBDSD &'t

1. ®

temperature of transition from paramagnetic to diamagnetic

T 90O 0850 A00C COS 0K 0TS HIE DBDED &l
2. %

3.¢



temperature of transition from ferromagnetic to paramagnetic

DT 90D 080 od T 90, 0TS HEDHEDH &Y't

temperature of transition from diamagnetic to paramagnetic

a3 ORRF) 030 0l FT° WD), 0TS HBDE e'(iS
4. %

Question Number : 112 Question Id : 5500531072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Physically. the self-inductance plays the role of
T 3gorr, DO DESBL0 & FG TS
Options :
inertia

a—ac:ié&o
1. ¢

Kinetic energy

, o (10283

potential energy

DEIES
3.8 @ s

4. %



velocity

SE

Question Number : 113 Question Id : 5500531073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. ; : 20 -
A resistor of 100 €2, an inductor of —mH and a capacitor of 0.1 |F are connected
2

in series to an ac source. The impedance of the circuit is minimum for a frequency
of

25
100 Q 8@, —MH 288w 8ok 0.1 [F 3ardbb 366" ws ac 28503

i

SodBATON. S0 e 030 &0 SR ﬁéaf.g_}bigo

Options :

5 kHz

10 kHz

15 kHz

4 % 20KkHZ

Question Number : 114 Question Id : 5500531074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



